Example for Class             Statistics 101                    November 3, 2004

We definitely will invest in Stock A. The question is whether it is better to invest the remainder of your money in Stock B, Stock C or Stock D.

Let XA,XB,XC,XD be the respective returns by the end of year 12/31/04 for each of Stocks A, B, C and D.

We are given the following joint probability distributions:

                             xB
xA            0            5         10

0             .15         .05      .10

5             .10         .25      .05

10           .05         .10      .15

                             xC
xA            0            5         10

0             .09         .12      .09

5             .12         .16      .12

10           .09         .12      .09

                             xD
xA            0            5         10

0             .05         .05      .20

5             .05         .30      .05

10           .20         .05      .05

Analysis

A. Each of the stocks has the following probability distribution

x      p(x)

0        .3

5        .4               E(X)=5 and Var(X)=15

10      .3

B.   ZB= Return over Prime= .5XA + .5XB - 2. Similarly for ZC and ZD 
Z              p(zB)              p(zC)            p(zD)

-2              .15                  .09               .05

.5              .15                  .24               .10

3               .40                  .34               .70

5.5            .15                  .24               .10 

8               .15                  .09               .05

E(Z)=3 in all cases. 

    V(ZB)=  9.375   V(ZC)= 7.5  V(ZD)= 3.75

C. Covariances

Cov(XA,XB)= 3.75    Cov(XA,XC)= 0    Cov(XA,XD)=-7.5

